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Paper : ECO-HC-5016
( Indian Economy—I )
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Full Marks : 80
Time : 3 hours

Tﬁe figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oo T TR T fa -
(a) What is demographic dividend?
el e < 2 |
(p) Define absolute poverty.
51 g kel il |
(c) Give one example of social capital.
SR e bt TRt i |
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(2)

(3)
d  What is the objective of National Rural ‘ Y )
@ Health MissionJ (NRHM)? ' 2. Answer the following questions : 2x5=10
B i g oo frdl PR Tey i

(e) Define gross enrolment rate.

(a) What is human capital?
) OIferereles 2RE e fiey |

, RICER GECRE
) In which year was NITI Aayog set up?
R 5 S S o 3 £ 7 (b) Write two recent features of India’s age
composition.
(g) Mention one drawback of Mahatma f
Gandhi National Rural Employment ‘ ~ SRS HPRAN R SET TAfE &Sy
Guarantee Act or MGNREGA. o o1 o1 |
T AT S8R A s AfAfvesd Wiz 9 |
(MGNREGA)J 951 @ o | ; (9 What is human development index?
() What is Aatmanirbhar Bharat? ‘ T TR o< 2
SRSy oRe 2 _
| (d) Give two factors which are responsible
(i) Great Leap Forward Programme relates } for .increase in the growth of savings in
to which country? 5 India.
T SR AHCFT SR R R T 3j SHEY AW [ IH ATRS T B v
G{® ? ‘ SeEr 91 1
() Give one reason of improvement in )
female literacy in India. | (e) Mention two causes of gender inequality
in India.
Sreq W TS S @RR 9B gre |
%&n\"l | SRR foigel (IR WO A Sewms 3/ |
!
‘ !
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(4)

3. Answer any four questions from the
following : 5x4=20

OoTd PR RCPICA! B Tee i -

(a) Write briefly the features of Indian
economy at the time of independence.

FEATOR S TSRO AT (AFEPRR tYF
T 90 |

(b) Discuss the important reasons for
persistent poverty in India.

SRS TS MRET TG FRPRHR S
Sl

(c) What are the major initiatives of the
government to strengthen India’s health
system?

SReY FF IRE e $RECT 5P &A=
31 TR 6 6 2

(d) Write the major causes of malnutrition
In rural areas of India.

SRSy weeed SefEY T FRGHR R |

(€} Explain, the major development
Strategies of China.

DT 35 By (FPeEPTIR I T
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(S)

Mention some of the social measures for
solving the problem of population
explosion in India.

SRS SHREIEE ST SHEF R I
SRS <= Sea 41 |
4. Answer any four questions from the
following :
@o PR Rl sifdbe Teq fran

@

(b)

()

22A/268

Explain the structural changes that
have occurred in India during the Plan

period.
ARTTT IS SRSS 61 SIS
ARSI =07 47 |

Analyze the trend of saving and
investment of India after economic
reforms.

e Ao RFRY  PIRe v e
R sfegRr 3¢9 <41 |

Explain the relationship between
population ~ growth —and  economic
development in the light of India’s

planned experience.

g g e SR SRER e
Sodkh] SReq ARTEAN TS TS A ey
el
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(6) T

(h) Give a comparative study of India,
China and Pakistan with respect to
demographic parameters and - GDP
growth rate. ‘
Telee o WF PP TRW GeAwA  Jfad

i T % wRIte SNS, BN U fEER WES 9o

R R 9 ARG ST SOPRR Wwwmf%wn
IR 41

(d) What is sustainable development?
Explain the environment friendly
policies that have been adopted by the
government to mitigate climate change.

* * %

(e) Explain the current state of primary
education in India.

SHSA 1A PP IET SRFICE! 9 4T |

() Discuss the different policies adopted by
the government of India to combat
poverty.
mRwel fifa IR SR 4 A 0
fafes SRR SICEoT <041 | ‘

() Explain the causes of overall

unemployment problem in India.
Mention some of the recent measures

taken by the government to create new
employment opportunities.
SRSY fg TR AAEE FEATER I
T fggar g e e T IR
2R 9 sy aEPEE SEd
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